[TpoBepoYyHbIEe PabOThI NO
TeMaM: «HemMmeTannbi».



I'ajiorenbl. 3aKOHYUTH YPABHEHHMSI BO3MOKHBIX PeaKIIMId.

Bapuanr 1 Bapuanr 2
H, + Br, = H+d, >
Al+ Cl, — Ca+ Br, >
KCl+1I, > AlBr, +Cl, —
Mgl + AgNO, — KI+ AgNO, —
HCl+ NaeOH — HCl+ KBr —

BapwuanT 3 Bapuant 4
H.+ K-> H.+1L >
Na+ I, —> Al+ F, —
Ki+ Br, > Nabr+ I, —
NaBr + AgiNC, — CaBr, + AgNC, —

HIi+ NaCi — HBr+ Ca(OCH), —



I'ajiorennpl. 3AKOHYUTH YPABHEHUSI BO3MOKHBIX

peaKIuu.

Bapwuanr 1 Bapuanr 2
H,.+ K —> H+1L >
Na+ I, —> Al+ F, —
Ki+ Br, — Nabr+ I, —
NabBr+ AgNC, — CaBr, + AgiNC, —
HIi+ NaCi — HBr+ Ca(OCH), —
H, + Br, - H+d, -
Al+ Cl, — Ca+ Br, >
KCl+1I,— AlBr,+Cl, —
Mg, + AgNO, — KI+ AghO, —

HCl+ NaOH — HCl+ KBr —>



A30THas KMcnora u ee Conm.

BapwuaHT 1. BapwuaHT 2.
ANC, + Na, CO, - HNO, +Ca(OH)2 RN
ANC, + Zn > N, +...+... HNO, + Ag = NO+ ...+ ...
AgNO3i> Kf‘\f@j)

HNO, + Al,Q, - HNO, + K, Si0;, -
HNO, + Ca » NO+..+... ANO, + Mg - N, +..+...

t $¢
Zn(NC ), = He(NG), -



ANC, + Na, CO, =
ANO, + Zn - N, +..+...

42NO, =5
HNO, + Ca(OH), -
HNC, + Ag = NO+..+...

2
KNO, -
NG, + Al, G, —

HNO, + Ca = N.O% ..+
LR B HNO, + Mg - N, + .. +...

Zn(NO,), > .
Hg(NG), -
HNO, + K, S0, —



